
Arithmetic 

Choose a level and answer the questions.  

Level 1 
1. 592 – 400 =  6. 4 x 5 =  

2. 12 x 10 =  7. 7 x 10 =  

3. 7

15
+

4

15
=  8. 84.2 x 10  

4. 723 – 100 =  9. 10
11
−

3

11
=  

5. 42 x 10 =  10. 38 + 70 =  

Level 2 
1. 5927 – 400 =  6. 4 x 5 x 7 =  

2. 271 x 10 =  7. 23.07 x 10 =  

3. 7

15
+

4

15
=  8. 84.2 x 100  

4. 5723 – 1200 =  9. 10
11
−

3

11
=  

5. 420 x 100 =  10. 4738 + 70 =  

 

Now have a go at these questions (everyone to complete) 

Fill in the missing number. 

 

           

 + 12 = 19 
 

Fill in the missing number. 

 

           

 – 14 = 17 
 

 

 



Answers  

Level 1 
1. 592 – 400 = 192 6. 4 x 5 = 20 

2. 12 x 10 = 120 7. 7 x 10 = 70 

3. 7

15
+

4

15
= 11

15
 8. 84.2 x 10 842 

4. 723 – 100 = 623 9. 10
11
−

3

11
= 7

11
 

5. 42 x 10 = 420 10. 38 + 70 = 108 

Level 2 
1. 5927 – 400 = 5527 6. 4 x 5 x 7 = 140 

2. 271 x 10 = 2710 7. 23.07 x 10 = 230.7 

3. 7

15
+

4

15
= 11

15
 8. 84.2 x 100 8420 

4. 5723 – 1200 = 4523 9. 10
11
−

3

11
= 7

11
 

5. 420 x 100 = 42,000 10. 4738 + 70 = 4808 

Fill in the missing number. 

 

           

7 + 12 = 19 
 

Fill in the missing number. 

 

           

31 – 14 = 17 
 

 


